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for (1 =8; 1< 25 1++) { (direction == 1) {
fail[i] = realloc{fail[i], sizeof(char)#®n}; i+ QEE %;F e L |- AL ‘| e _I_I-
k = e; — —_— O -|| A |-O
((*1i) < lens &% k < lenp) { i_ O-” El E-I 7| O O-” . 7 _I_ O Ol_l- A o
- e ) S=HESE M7 AHESE MO B =
j# TE-» TEE HEWE| gt = } (¥1)++) k) - FiL o OI: (| —lJ_l_ | o OI: 1 O ET
fail[ejrel = -1; . o i_l_ - O+ — I:II'_CID- Ol
for (k = 1; k& < nj k++) { #i )4 7|_O o 7-” O|-7| Tl O A-I T O OI:—
i = fail[@][k - 1]; T AlEHEﬂ-AE O =] |:_|-
while (pat[k] '= pat[i + 1] && i >= @) { T rail[e][k = O T 2 2 M )
i = fail[@]1[il; }
v r
if (pat[k] == pat[i + 1]) { fail[@][k] =1 + 1; } re " ap) @ (string + (*i) - lenp) : NUL - _l E—l TI KMP E|:|I-A—I-|I = Ol't %I-TO'”A-I
elze { fail[@][k] = -1; } —_
A off o2 HMX|Z olRtZ ol
lse {
EFAHS XSS E 2 SHL}
;+ QEE > AT B0 WIfE oo g s Ut = AL
'Fail[ ] n 1] = Nj; ] II::I(:riri”:]t:ﬂ;a;:k]j{
for (k=n - 2; k »=@; k--) { #1)--; K
i = fail[l][k + 1]; }_ . 1
gls K lenp - 1)
while (pat[k] != pat[i - 1] &% i < n) #1)
i = fail[1][i]; -
} a k = fail[1][k +
if (pat[k] == pat[i - 1]) { fail[l][k] = i - 1; } :
elze { fail[1]l[k] = nj } '
return (k = 1 (ztring + + 1 MULL
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EZio|0f & iot= 4

COLOR_SKYELLE
COLOR_ |YORY

insert list(prefix, strlen{prefix});

(has_children(root} a) {

CHAR_SIZE
(i -8; i < CHAR_SIZE; i++) {

CHARE_TO_IMNDEX(c) ((int)c — Cint) ') (root->ch[1]) {

prefix = string append{prefix, " ' i);
suggestion by prefix{root->ch[i], prefix};
prefix = string pop back(prefix);

}

trie 1
int is_leaf.
int branch,
int words .
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